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Guess Paper – 2010
Class – X
Subject – Science (Chemistry)

Chemical reactions and equations
Q. What do you mean by a balanced equation.   2
Ans.The chemical equations in which the number of atoms of each element on the two sides of the equation are equal is known as balanced chemical equation.

Q. In the chemical reaction the arrow pointing downward and the arrow pointing upward represents?                  1
Ans. The arrow pointing downward represents precipitate while the arrow pointing upward represents gases in the chemical equation.

Q. Explain the following terms with one example and two prevention for each.

(i)Corrosion.(ii)Rancidity.3
Ans. Corrosion: The process of slowly eating up of the metals due to attack of atmospheric gases such as O2,CO2,H2S,SO2,water vapour etc.on the surface of the metals so as to convert the metal in to metal oxide,carbonate sulphide etc. is known as corrosion.eg.
2Fe+3/2O2 +xH2O---------->  Fe2O3.xH2O(Hydrated ferric oxide rust)
Rancidity: The oily and fatty food oxidizes and give bad smell and test is called rancidity.Preventatioin:By adding antioxidant which slow down the process of oxidation.2. Vaccum packing,3Flusing N2 gas in chips packets.3.Refrigeration.
Q.Explain the various types of reactions with one example of each.

Combination reactions
In these reactions, two or more substances combine to form a new compound. The reactants in such reactions can be elements as well as compounds. The general equation used to represent a combination reaction is:

A + Z 
For example, coal is primarily carbon. When it burns, it combines with oxygen present in the air to form carbon dioxide.
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 Hence, in combination reactions, two or more compounds combine to produce only one product.
Decomposition reactions:

In these reactions, a compound breaks down or decomposes to form two or more substances. These reactions are exactly opposite to combination reactions. We know that there is only one product in combination reactions. Similarly, there is only one reactant in decomposition reactions. The general equation used to represent a decomposition reaction is:
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Decomposition reactions require a source of energy in the form of heat, light, or electricity to decompose the compound involved. Hence, these reactions can be classified into three types,

1)Thermal decompotion reactions:Pb(NO3)2----∆-->PbO +4 NO2 +O2
CaCO3 ----∆--> CaO +CO2
2)Electrolytic decomposition(electrolysis)
2H2O -----electric current---->2H2 +O2
3)Photo decomposition reactions:
2AgBr----sunlight--->2Ag + Br

*** Displacement reactions:The chemical reactions in which a more active element displaces a less active element from its compound are called displacement reaction.
Fe +CuSO4 ------>FeSO4 +Cu

***Double displacement reactioins:The chemical reactions in which mutual exchange of ions between the reactants is takes place is known as double displacement reactions.
Na2SO4 +BaCl2 -------->BaSO4 + 2 NaCl
Q.A compound X react with compound Y to give compound Z .Compound Z is used for white washing walls.Z react with CO2  to give shiny appearance to walls by forming compound A and Y. Give the equation for the reaction and name X,Y,Z,A         3
CaO + H2O------->Ca(OH)2 

Ca(OH)2  + CO2 ------> CaCO3 
Q.Balance the following chemical equation.

Fe + H2O-------------->. Fe3O4 + H 2

Ans.3Fe + 4H2O-------------->. Fe3O4 + 4H2

Q. CuO +H2 ----heat--->Cu + H2O  
MnO2 + 4 HCl ---------->.MnCl2 +2 H2O +Cl2  
Explain in the above equation (a) Which are Oxiding and reducing agent (b)Which compound is oxidized and which is reduced.     3
Ans Cu is reduced and H2 is oxidized to water.(b)Manganese dioxide is reduced to MnCl2 and HCl has been oxidized to Cl2
Q.What does following equation represents?

2NaOH + H2SO4--------->Na2SO4 +2H2O         1
Ans. Neutrilisation reactions.

Acids.Bases and Salts

Q2004.How is chloride of lime chemically different from from calcium chloride?Why does chloride of lime gradullay lose its chlorine when kept exposed to air. 2
Ans.Calcium chloride is basically CaCl2 while chloride of lime is calcium oxy chloride CaOCl2 and it is known as bleaching powder.
When it is exposed to air it is attacked by the CO2 of the air and liberates Cl2
CaOCl2 + CO2 -------> CaCO3 + Cl2
Q. Identify the compound of calcium which is yellowish white power and is used for disinfecting water.How it is manufactured ? Write the chemical equation for the reaction involved.What happens when it is left exposed to air.  3
Ans. The above compound is bleaching powder calcium oxy chloride CaOCl2.+ above given
Q. Identify the compound of calcium which is used for plastering of fractured bones.What special precaution should be taken during the preparation of this compound?  2
Ans. The compound is Plaster of paris and chemically it is known as calcium sulphate hemi hydrate. It is prepared from gypsum which is calcium sulphate di hydrate .
CaSO4 .2H2O ⇋ CaSO4 . ½ H2O + 1 1 H2O
                                                           2
Preparation: It is prepared by heating gypsum in a kiln at 1000c (373k) as it loses three fourth of its water of crystalizition. It is kept in air tight container. Plaster of paris react with water to set hard mass gypsum.
Q2004, What does slaking of lime stand for? Why is there a hissing sound during this process? Write the chemical equation involved in the reaction.    2
Ans. Calcium oxide(quick lime) react with water to give calcium hydroxide this is called slaking of lime. The hissing sound in this reaction is due to exothermic reaction.

CaO + H2O------->Ca(OH)2 

Q. What is meant by the term pH of a solution? The pH of gastric juices extracted from the stomach of two persons A and B were found to be 1 and 3 resp. The stomach juice of which person is more acidic?.     1
Ans The negative algorithm of hydrogen ion concentration to the power 10 as base is known as pH of the solution. The gastric juices of person A is more negative.
Q.Plaster of paris should be stored in a moisture proof container. Explain why?    2
Q. A milkmen adds a very small amount of sodium hydregen carbonate to fresh milk.

 a) Why does he shift the pH of the fresh milk to slightly alkaline?b)Why does this milk
take along time to set as curd?
    2
Ans. He shift the pH of the fresh milk to slightly alkaline because fresh milk is acidic in the nature and it turn sour specially in summer season.(B) In presence of baking soda,milk become slightly alkaline .the presence of alkali does not allow milk to become more acidic .Therefore it takes a long time to set as curd. 
Q. A house wife while preparing cake forgot to add some ingredient of baking powder as a result cake become spongy but bitter in test which ingredient is lacking in the preparation of baking soda explain with chemical reaction .3
Q.A compound x of sodium is commonly used in kitchen for making crispy pakoras.It is also used for curing acidity in the stomach.Identify x .What is its chemical formula ?State the reactioin which takes place when it is heated during cooking.

Ans.She forgot to add tartaric or citric acid as a result cake become spongy and fluffy but was bitter in test due to formation of sodium carbonate.
NaHCO3 ----∆--> Na2CO3 + H2O + CO2 
Formation of sodium bi carbonate:

NACl +  H2O +NH3  ----------> NH4Cl + NaHCO3 

Sodium chloride +water + ammonia ----> ammonium chloride + sodium bi carbonate
Q.Compounds such as alcohols and glucose also contain hydrogen but are not categorized as acids. Describe an activity to prove it.      3
Ans. Alcohols and glucose also contain hydrogen but cannot conduct electricity because they do not produce H+ ions.
Activity: Taken solutions of glucose,alcohols,hydrochloric acid,sulphuric acid . Fixed two nails on a cork and place the cork in a 100 ml beaker.The nails are connected to a 6 volt battery through a bulb and a switch as shown in the fig.Now poured some dilute HCl in the beaker and switch on the current.This activity is repeated with dil. Sulphuric acid,glucose and alcohols solutions.
Observation: It is observed that the bulb glows in case of acids only.

Conclusion: Acids produce H+ ions in aqueous state glucose and alcohols don’t produce H+ ions.
Q.State the chemical property in each case on which the following uses of baking soda are based.: I )As an antacid.

2)As a constituent of baking powder                               3
Ans. Baking soda (NaHCO3) is basic in nature.It neutralizes the extra acid formed in the stomach.Hence it is used as an antacid.
Baking powder contains NaHCO3 which on heating decomposes to give CO2 gas and sodium carbonate .The CO2 gas thus produced caused bread and cake to rise.
Q.How is plaster of paris chemically different from gypsum?How may they be

interconverted.Write uses of it .   2
Q.A metal compound A react with dilute hydrochloric acid to produce effervescence. The gas extinguishes a burning candle. Write a balanced chemical equation for the reaction if one of the compounds formed is calcium chloride.  3
NaHCO3 +  HCl ----------> NACl +  H2O + CO2
Q. A first aid manual suggests that vinegar should be used to treat wasp sting and baking soda for bee stings.
(i) 
What does  this information tell you about the chemical nature of  the wasp stings
(ii) 
If there were no baking soda in the house, what other household substance could you use to treat bee stings?
Ans : (i) Since vinegar (acetic acid) is used to heal or neutralize the effect of wasp stings this means that the chemical present in the stings must be some base.
(ii)NH4OH
Q. Compound P forms enamel of teeth. It is the hardest substance of the body.
It does not dissolve in water but it is corroded when pH in the mouth is below
5.5. How does tooth paste prevent dental decay?
Ans.   P = Ca3 (PO4)2. Bacteria present in the mouth produce acids by degradation of sugar and food particles remaining in the mouth after eating. Using toothpastes, which are generally basic, for cleaning the teeth can neutralize the excess acid and prevent tooth decay.
Q.With an experiment show that hydrogen ion in HCI are produced in the presence of water only.
Ans. Activity: Taken about 1g solid NaCl in a clean and dry test tube .Now some amount of concentrated sulphuric acid is added to the test tube .It is observed that a gas is coming out of the delivery  tube .the evolved gas is successively tested with dry and wet litmus paper.
Observation: The colour of only wet litmus paper changes.
Conclusion:The H+ ions in HCl are produced only in the presence of water.
 Q.A metal when x react with acid y then gas z is produced .gas z bums with pop sound. Write a balanced chemical equation for the reaction and name x,y,z     2
Zn + H2SO4 -------->  ZnSO4 + H2
Metal and nonmetal
1.   A  metal  acts  as  a  good  reducing  agent.  It  reduces  Fe2O3,  and  MnO2. The reaction with Fe2O3  is used for welding broken railway tracks. Identify the metal and write all the chemical reactions
Ans 1: Aluminium
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Answer the following questions based on above information. (i) Which is the most active metal and why?
(ii) What would be observed if B is added to a solution of copper (II) sulphate and
Why?
(iii) Arrange the metals A, B, C and D in order of increasing reactivity.
(iv) Container of which metal can be used to store both zinc sulphate solution and silver nitrate solution.
Ans.


(i)  B
	
	(ii)
(iii)
	Displacement reaction. Because B is more reactive than Cu.
B.>A.>C.>D

	
	(iv) (v)
	D ZnSO4



Q.Which of the following two metals will melt at body temperature (370C).1

Gallium,Magnesium,Caesium,Aluminium.

Ans. Gallium, Caesium

Q. What is philosopher wool ?1
Ans It is fibrous mercury
Q.Which one of the following elements symbolized as A and B is a metal.? 9A19, 12B24   1
Ans. Element B with atomic number 12 and electronic configuration 2,8,2 represents metal.
Q.Define the term Ore, Mineral.    1
Ans.The elementary state or the compounds of metal occur in nature along with impurities are known as minerals.

The minerals from which metals can be extracted conveniently and economically is called an ore.As an example bauxite Al2O3.2H2O, felspar KAlSi3O8, and cryolite Na3Alf6 are the minerals of aluminium but only boxite is is used as ore of aluminium.
Thus all the ores are mineral but all minerals are not ore.
Q. What happen when iron nails are put in to copper sulphate solution.2
Ans. Fe + CuSO4 ---------> Cu + FeSO4
Blue colour of copper sulphate solution fades gradually . Fe being more reactive then copper displaces copper from copper sulphate solution and redish brown coloured copper is  deposited on iron nails.
Q. Define the term galvanization, Anodising.  1
Ans. The process of coating iron object with a thin layer of zinc is known as galvanization. Zn being more reactive then Fe react with atmospheric O2.CO2, and moisture to form invisible layer of ZnCO3.Zn(OH)2 which prevent it from further corrosion even when this coating is broken.
The process of forming a thick layer of aluminium oxide over metals is known as anodizing.
Q.Why is H2 gas not evolved when a metal is treated with nitric acid. 2
Ans.Nitric acid is a strong oxidizing agent it oxidizes the H2 produced to water and itself get reduced to nitrogen oxides .N2O,NO,NO2 .But magnesium Mg,and manganese Mn,react with dilute HNO3 to give H2 gas.
Q.What happen to copper vessel if it is left for a few days in humid atmosphere without being cleaned.             1
Ans. The copper vessel will be corroded and a green layer of basic copper carbonate CuCO3.Cu(OH)2 will be deposited on the copper vessel.
Q. Explain what corrosion of iron means.? 1 Ans see page 1 
Q. Why is sodium or potassium metals are kept immersed in kerosene oil?. 1
 Ans.Sodium and potassium metals are highly reactive metals they catches fire in the presence of air and moisture even when they exposed in atmosphere. Therefore they are kept immersed in kerosene oil.
Q. Why is aluminium which is more reactive than iron does not corrode like iron .? 2
Ans. Aluminium react with atmospheric O2 and forms a oxide layer over its surface which prevent it from further corrosion.
Q.How is corrosion of iron can be prevented.?  1
Ans.By galvanization,anodizing,applying paint, red oxides etc.
Q. Why is tungsten metal selected for making filaments of incandescent lamp bulbs.?  1
Ans. Tungsten metal selected for making filaments of incandescent lamp bulbs because it has high resistance and and high melting point.
Q. A metal compound  on treatment with dilute hydrochloric acid  reacts with brisk effervescence to produce a odorless gas.The gas evolved extinguishes a burning candle.Write a balanced chemical equation for the reaction. 2
Ans.CaCO3  +  2HCl------> CaCl2 + H2O + CO2
Q. How is calcinations different from roasting.?  2
Ans . In calcination ore is heated below its melting point in lack or in absence of O2 while in roasting metal ore is heated below its melting point in the control supply of air.

Calsination is done for carbonate ores while roasting is done for sulphide ores.

 In calcination CO2 gas is evolved while in roasting SO2 gas evolved. 
Q.Why do ionic compounds have high melting points?  1
Ans.Because lots of force is required to break the strong electrostatic force between the ionic bonds.
Q. What are amphoteric oxides ?Give two example of each.  2
Ans.Such metal oxides which reacts with both acids as well as bases to produce salt and water are known as amphoteric oxides.

Al2O3 + HCl ------>2AlCl3 + 3H2O

Al2O3  + 2NaOH ---->2NaAlO2  + H2O 
Q.Show the formation of sodium chloride and magnesium chloride by the transference of electrons.  2
Q.You are given samples of three metals Sodium, Magnisium,and Copper suggest any two activities to arrange them in order of their  decreasing reactivity.   5
Q.A,B,and C are three elements which undergoes chemical changes according to the following equations:    2
A2O3 + 2B -------->  B2O3  +  2O
3CSO4 + 2B--------> B2(SO4)3 + 3C

3CO + 2A ------>A2O3 + 3C

Write the name of the most reactive and least reactive element.   
Q. What is activity series of metals ?Arrange the metals Zn,Mg,Al,Cu and Fe in a decreasing order of reactivity.Explain how the metals are obtained from their compounds by the reduction process.  5
(a) Metal x which is low in the reactivity series (b) Metal y which is in the middle of the reactivity series(c)  Metal z which is high up in the reactivity series.

Q. Write an activity to show the necessary conditions needed for corrosion (rusting) of iron metal.    5
CONCEPT TUTOR POINT CELL 9983118799,9413253601

Q. In the reduction process an oxide of metal x react with metal y .The reaction is so exothermic that metal x obtained in molten state is used to join the railway tracks or cracked machine parts. Give the chemical reaction for the above and name x, y.  3
Q.Wht is alloying and what are the composition of amalgum,brass solder,stainless steel.?   2
Q. What would you observe when you put (i) Some zinc pieces in to blue copper sulphate solutioin .(ii)Some copper pieces in to green ferrous sulphate solution.        3
Carbon and compounds
Q.Why does 1M HCl solution have a higher concentration of H+ ions than 1M CH3COOH solution?      1
Q.Name the organic acid present in vinegar.1
Q. An organic compound  x which is used in medicines such as tincture iodine, cough syrups, and tonics etc. react with an organic compound  y which smells like vinegar in the presence of conc. sulphuric acid than compound z with sweet and fruity smell is formed. In the presence of sodium hydroxide z again give constituent organic compounds x and y.Write the chemical equation for x,y,z and give name for x,y,z. 
Q.What do you understand by isomerism?How many structural isomers you can draw for pentane.       5
Q. Draw the structure of the following compounds:  3
(i)Ethanoic acid (ii) Bromo pentane (iii) Hexanal
Are any structural isomers possible for bromopentane?.

Q.Q. How are the molecules of aldehydes and ketones structurally different?.2
Q. What type of compounds shows substitution reactions, addition reaction.  2
Q.Which of the following hydrocarbons will show addition reaction:  1
C2H6,C3H8,CH4,C2H2 ,
Q. Write electron dot structure of methane, ethane, and ethane,carbon di oxide and sulphur.2
Q. Why is carbon tetravalent.  2
Q. What is Homologous series?.Explain with an example. 3
Q. Name a molecule which contains both a single and a double bond between carbon and oxygen atom. 1
Q. What is hydrogenation?. Write one industrial use of this process.2
Q. Explain the cleansing action of soap.           5
Q. The molecular formula of an ester is C3H7COOC2H5 .Write the molecular formula of the alcohol and the acid from which it might be prepared.   3
Q. An organic compound X which is sometimes used as anti-freez,has the molecular formula C2H6O.X on oxidation gives a compound Y which gives effervescence with baking soda solution.What can X and Y be? Write their structural formulae.  3
Q.An organic compound   X with a molecular formula C2H6O undergoes oxidation with in presence of alkaline KMnO4  to form a compound Y. X on heating in presence of Conc. H2SO4  at 443K gives Z.which on reaction with H2Oin presence of H2SO4 gives back `X.` `Z`  reacts  with Br2   (aq) and decolorizes it. Identify X, Y, & Z.and write the reactions involved.
Q.What happens when ethanoic acid reacts with Sodium hydroxide,Sodium hydrogencarbonate.3
Q.How yoy can prepare an ester in the laboratory? Give the equation of the reaction involved.Write the I.U.P.A.C name of the acid and the alcohol used in the reaction. Write one use of ester   3.
Q.Write chemical equations of the reactions of ethanoic acid with: (i)Sodium,(ii)Sodium carbonate ,(iii)Ethanol in presence of conc.H2SO4(iv) Sodium hydroxide.  3
Q. The structural formula of an ester is C3H7COOH. Write the formulae of the acid and the alcohol from which it is made.       2

Q.Complete the following reaction   3
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Periodic classification of elements

Q. name
(i)Three elements which have a single electron in their outermost shells.

(ii) Two elements which have two electrons in their outermost shells
(iii) Three elements with completely filled outermost shells  3
Q,(a) Lithium ,Sodium, Potessium are all metals that reacts with water to liberate H2 gas Is there any similarity in the atoms of these elements ?  2
(b) Helium is an unreactive gas and neon is a gas of extremely low reactivity. What if anything common in the atoms of these elements?  2
Q. Define Mendeleev’s periodic law,Modern periodic law  2. 

Q. What are metalloids.  2
Q. Name two elements you would expect to show chemical reactions similar to magnesium.What is the basis of your choice ?  2
Q. What are the achievements and limitations of mendeleev’s periodic table.   3
Q. Explain the various trends in the modern periodic table .

Q.
	Group
	I
	II
	III
	IV
	V
	VI
	VII
	VIII

	Oxide
Hydride
	R2O RH
	RO RH2
	R2O3
RH3
	RO2
RH4
	R2O5
RH3
	RO3
RH2
	R2O7
RH
	RO4

	Periods
	A B
	A 
B
	A 
B
	A 
B
	A 
B
	A 
B
	A 
B
	

	1
	H
	
	
	
	
	
	
	

	2
	Li
	Be
	B
	C
	N
	O
	F
	

	3
	Na
	Mg
	Al
	Si
	P
	S
	Cl
	

	4.First Series: Second Series:
	K
Cu
	Ca
Zn
	Sc
Ga
	Ti
Ge
	V As
	Cr
Se
	Mn
Br
	Fe  Co   Ni

	5 First Series: Second Series
	Rb
Ag
	Sr
Cd
	Y
In
	Zr
Sn
	Nb
Sb
	Mo
Te
127.90
	Tc
I
126.90
	Ru  Rh 
Pd

	6 First Series: Second Series
	Cs
Au
	Ba
Hg
	La
Tl
	Hf
Pb
	Ta
Bi
	W
	
	Os  Ir 
Pt


(a) Write the formula of hydride and oxide of silicon
(b) Name the elements which is in
(i) 
II group and 4th period
(ii) 
VI group and 3rd period.
(c) Name the elements in group I which do not resemble with alkali metals
(d) In group VI why does 
Te with atomic mass 127.60  comes before I with atomic mass 126.90

                  Ans. (a) SiO2, SiH4
(b) (i) Ca,Zn(ii) S
 (c)H


(d) The sequence was inverted so that elements with similar properties could
be  grouped together
Q-10 
The  three  elements  predicted  by  mendeleev  from  the  gaps  in  his periodic table were known as eka- boron, eka- aluminum, eka- silicon. What names were given to these elements when they were discovered later on?
Paper Submitted by:

Name : yashwant sharma

Email : sharma_yashwant@ymail.com

Phone No.  +919983118799

�











-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

